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Using The Quadratic Formula  

(Level 5-7) 
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1 State the quadratic formula. (Level 5) 

[1 mark] 

2 For the following quadratic equations, determine the values for 𝑎, 𝑏 and 𝑐 in the 

quadratic formula. 

(Level 5) 

 

2(a) 𝑥2 + 𝑥 − 10 = 0 

[1 mark] 

𝑎 =  𝑏 =  𝒄 =  

2(b) 5𝑥2 + 3𝑥 − 22 = 0 

[1 mark] 

𝑎 =  𝑏 =  𝒄 =  

2(c) −𝑥2 + 3𝑥 + 1 = 0 

[1 mark] 

𝑎 =  𝑏 =  𝒄 =  

2(d) −𝑥2  − 𝑥 − 1 = 0 

[1 mark] 

𝑎 =  𝑏 =  𝒄 =  

Turn over for next question  

Turn over ► 
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3 For the following quadratic equations, determine the values for a, b and c in the 

quadratic formula. 

 

(Level 5) 

3(a) 2𝑥2 + 𝑥 = −10 

[2 marks] 

𝑎 =  𝑏 =  𝒄 =  

3(b) 5𝑥2 = −3𝑥 + 22 

[1 mark] 

𝑎 =  𝑏 =  𝒄 =  

3(c) 𝑥2

3
= 𝑥 + 1 

[1 mark] 

𝑎 =  𝑏 =  𝒄 =  

3(d) 
𝑥2 =

7𝑥 − 22

3
 

[2 marks] 

𝑎 =  𝑏 =  𝒄 =  

Turn over for next question 

Turn over ► 

6 



1 

1 

1 

4 

4 Use the quadratic formula to solve the following quadratic equations. (Level 6) 

Give all answers to 2 decimal places. 

You must show your working.  

4(a) 𝑥2 + 𝑥 − 10 = 0 

[2 marks] 

𝑥 =  𝑥 = 

4(b) 5𝑥2 + 3𝑥 − 22 = 0 

[2 marks] 

𝑥 =  𝑥 = 

Turn over for next question 

Turn over ► 
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4(c) −𝑥2 + 3𝑥 + 1 = 0 

[2 marks] 

𝑥 =  𝑥 = 

4(d) −𝑥2  − 𝑥 + 5 = 0 

[2 marks] 

𝑥 =  𝑥 = 

Turn over ► 
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5 Solve for 𝑥, using the quadratic formula;  (Level 6) 

𝑥2 + 10𝑥 + 20 = 0 

Give your answer as a surd. 

[3 marks] 

Answer 

6 Solve for 𝑥, using the quadratic formula; (Level 6) 

𝑥2 − 2 𝑥 + 5 = 4𝑥 + 8 

Give your answer to 2 decimal places. 

[3 marks] 

Answer 

7 Solve for 𝑥, using the quadratic formula. (Level 6) 

3𝑥2 − 42𝑥 + 147 = 0 

[2 marks] 

Answer 

Turn over for next question 

Turn over ► 
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8 Solve for 𝑥, using the quadratic formula. (Level 7) 

𝑥2 − 6 =
2𝑥 + 12

−6
 

Give your answer in its exact form.  

[3 marks] 

Answer 

END 
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